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£, (¢, y) = In(x) + 12.88949 - 364331 (1 %2771 - 0.00523y)
y — 33.424

f,(x,y) = In(1 - x) + 10.1457 - 260554 2 (2.771 - 0.00523y)
y — 53.424

x:= 0.5 y := 350

Sol:= | Amax <« 100

while Amax > 10 >

f(1o1x,y) - f.0x,y)  f;(x,2.01y) - £, (x,y)
J « 100 X Y
& .
£,(101x,y) - f,(x,y)  f,(x,1.01y) - £, (x,y)
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fl(x ay)
F <

fz(X ’Y)
A LF
Amax « max(|A|)

X x+ Aq

y<y+ Ay

y
X 0.46019
ML= Sol =

326.69657

Alternative Solution

x:=0.5 Y= 350

M

Given

3643.31

x-exp| 16.59158 —
y — 33.424

j-exp[(l ~ )% (2771 - o.ooszsy)] = 40.532



2665.54
y — 53.424

X 0.460196
M= Find(x ,y) =
326.696547

(1- x)-exp(14.25326 - j-exp[xz-(2.771 - o.ooszsy)] = 60.798



